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No. 1 2 3 4

A F O S B2 % EEHT =L 01l FHigm FHigm FHigm RILX RILX X
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 0.007 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PDVIESEL D) < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynpx42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4> < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 10 11 12 13 14 15 16
Al E M= H o T H o T FHiam P BBt | RS RABKT| REKX
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 0.017 < 0.002 < 0.002 < 0.002 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 0.0044 0.062 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 < _0.002 0.006 0.035 < _0.002 < 0.002 0.003 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 17 18 19 20 21 22 23 24
Al E M= WIBX WIBX EX FEILX JEILX X hEdHH | HESHTH
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR 0.0030 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 0.0008 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 0.092 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL 2 [< 0.0005 0.21 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 25 26 27 28 29 30 31 32
Al E M R HhEHH™M | HE=SHM | BAET ST ST N N o dit]
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 0.006 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
L1i=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vax—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 0.0005 < _0.0005 0.0066 0.0062 0.012 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
rJ)ooOoTFL 2 [< 0.002 < 0.002 < 0.002 < 0.002 0.005 0.014 0.022 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 0.0032 < _0.0005 0.0007 0.0016 0.0021 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 33 34 35 36 37 38 39 40
A F # = REX REX EEX R FIIRX SHX X IR
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 0.006 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonxs>|  0.0028 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
k)o2ooIFL 2| 0.014 < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002
ThZ700TFL2 | 0.0022 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 41 42 43 44 45 46 47 48
Al E M R HE R hEoHm | NEFTH NEFTH =T ST ST E5
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PDVIESEL D) < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0014 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 < _0.002 < _0.002 < 0.002 0.024 < 0.002 < 0.002 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 49 50 51 52 53 54 55 56
A F O S INEFTH =[E il X il X #HEX HEX PRX FHRX
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 0.041 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
L1i=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vax—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 0.008 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL | 0.0015 0.048 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 57 58 99 60 61 62 63 64
A E M = IRX IR NEFTH NEFTH NEFTH NEFTH BE™ BEm™
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it 0.010 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 0.005 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 0.036 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0006 0.010 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 0.065 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 0.0039 0.019 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 65 66 67 68 69 70 71 72
A F O S T T Hokitl HEAX HEAX HERX EX EX
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonxs>|  0.0005 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 0.010 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xFL2 | 0.0013 0.017 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 73 74 75 76 77 78 79 80
Al E M= TIR)IX NEFH NEFH NEFH NEFTH ZEh hie s i it
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 041 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 041
) 0.006 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o4ynox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
L1i=yyanxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
vax—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooITFL 2 |< 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002




No. 81 82 83 84 85 86 87 88
Al E M R HEHAX HEAX BHERX an ) I[X NEFTh HT B HT B KHKX
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 0.18 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
onoiay < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
Wig bR < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < _0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
k)o2ooIFL 2| 0.002 < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—Y4von7axy < 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002




(mg.”L)

No. 89 90 91 92 93 94
A E M = KXHRX KXHEX T B HTE ™ KHKX HT B
AR L < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
e T < 0.1 < 0.1 < 0.1 < 0.1 < 0.1 < 0.1
) < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
NiZA=PN < _0.04 < _0.04 < _0.04 < _0.04 < _0.04 < _0.04
it < _0.005 < _0.005 < _0.005 < _0.005 < _0.005 < _0.005
27K ER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
7 ILEILIKER < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PCB < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
PDVIESEL D) < _0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
mig{ERE < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
1, 2—o49nox42 (< 0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004 < _0.0004
Li=yyanxzFLy < 0.002 < _0.002 < 0.002 < 0.002 < 0.002 < 0.002
va—12-vyanzFLy (< 0.004 < _0.004 < _0.004 < _0.004 < _0.004 < _0.004
1,1,1—kysonx4r < 0.0005 0.0007 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,1,2—kysonx4r < 0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
r)o2ooIFL 2 |< 0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002
ThZ700xTFL 2 [< 0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005 < _0.0005
1,3—<4san7axy|< 0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002 < _0.0002
F2oL <_0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006 < _0.0006
IOV < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003 < _0.0003
FAAN AT < 0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002
oty < _0.001 < _0.001 < _0.001 < _0.001 < _0.001 < _0.001
L < _0.002 < _0.002 < _0.002 < 0.002 < 0.002 < 0.002




FRBEEHRHF B D i X 50 TE b = il B g R

1 HREX (mgL)
TRX—12—
1,1—>4Aan[ SO0 FL 1,1,1—kJ% K)o F FhSHOOT
No. |RITEHh & migbikE IFLY v ooT4y Ly FL
1[#REX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0026
2|#REX  |< 0.0002 < 0.002 < 0.004 0.0026 < 0.002 0.0007
[FBX [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
4[HRFBEX  |[< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0015
5[##ERX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0010
6|#RFEX |< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
7[#ERX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
8[#R#EX |[< 0.0002 < 0.002 < 0.004 0.0005 < 0.002 0.0008
o[##EX  [< 0.0002 < 0.002 < 0.004 0.0009 < 0.002 < 0.0005
10[f/R#%BX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
11X [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0009
12[f/R#%EX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0013
13[RIEX 0.0009 < 0.002 < 0.004 0.0018 < 0.002 < 0.0005
14[f/R#%BX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
15[fFEX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
16[fR#%BX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
17[#/R#%EX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0005
18[f/R#BX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
19[fxFEX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
2 IR (mg L)
SR—12—2
1,1—<,4oA0 SO0 FL 1,1,1—kJY c)oooTF FhS4H/OO0xT
No. [BIEHh s migibixE IFLY > OooI4y Ly FLV
1[HREX 0.0007 0.016 0.009 0.0061 0.008 0.0042
2| IR 0.0005 < 0.002 < 0.004 0.0043 0.005 0.0049
3[IREX  |< 0.0002 0.007 0.027 0.0028 0.008 0.0024
4[fREX  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.003 < 0.0005
5|#REX  |< 0.0002 < 0.002 < 0.004 0.0015 0.006 0.0021
6|#x#EX  |< 0.0002 0.004 < 0.004 0.0040 0.002 0.0008
71#REX  |< 0.0002 < 0.002 < 0.004 0.0030 0.003 0.0009
8|RIEX 0.0003 < 0.002 < 0.004 < 0.0005 0.007 0.0032
9|RIEX 0.0012 0.010 < 0.004 0.0042 0.005 0.0029
10[##EX  [< 0.0002 0.011 < 0.004 0.0049 0.005 0.0016
114X [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0009
12[#EX  [< 0.0002 < 0.002 < 0.004 0.0005 0.004 0.0019
13[1RIEX 0.0002 < 0.002 < 0.004 0.0038 0.003 < 0.0005
14| RIBX 0.0005 < 0.002 < 0.004 0.0016 0.006 0.0032
15[tREX 0.0005 < 0.002 < 0.004 0.0016 0.006 0.0032
16[tREX 0.0017 < 0.002 < 0.004 0.0028 0.005 0.0032
17[#xEX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0013
18[#R#EX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0008
19[#xFEX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0010
20/#R#EX  |< 0.0002 < 0.002 < 0.004 0.0006 0.004 0.0019
21| #R#EX  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0008
3 =EH (mg /L)
R—12—T
11—<400 ~O0AaIFL 1,1,1—kJ% c)oopoxTzF | FHZo/EART
No. |;RIE Hh st migibiE IFLY v onT4aY Ly FL
1B h [< 0.0002 < 0.002 < 0.004 0.0008 0.008 0.036
2|REEFm [< 0.0002 < 0.002 < 0.004 < 0.0005 0.018 0.073
3|EEEFh [< 0.0002 < 0.002 < 0.004 < 0.0005 0.004 0.0006
4|=FEm  [< 0.0002 < 0.002 < 0.004 0.0005 0.008 0.023
5|=&™H  [< 0.0002 < 0.002 < 0.004 0.0006 0.009 0.031
6| =& 0.0004 < 0.002 < 0.004 < 0.0005 0.003 0.016
71|1=ZEH  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.006 0.0088
8[=Emd  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0005




SR—12—2
1,1—<400 ~ZO0TFL 1,1,1—kJ%H K)o F FhSHOOT
No. [IE#h s migkiRE IFL> N OnIT4y Ly FL>
9| KB EFmh [< 0.0002 < 0.002 < 0.004 < 0.0005 0.006 0.013
10| EHEEF [< 0.0002 < 0.002 < 0.004 < 0.0005 0.004 0.0025
11| EEEH [< 0.0002 < 0.002 < 0.004 < 0.0005 0.005 0.0044
12| K EF™H [< 0.0002 < 0.002 < 0.004 < 0.0005 0.004 0.0026
13| EEEFt [< 0.0002 < 0.002 < 0.004 0.0005 0.007 0.020
14[= & 0.0008 < 0.002 < 0.004 < 0.0005 < 0.002 0.0010
15|=F&sH  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.010
16[=EH [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
17|=FEH  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.006 0.0082
18[=EwH  [< 0.0002 < 0.002 < 0.004 0.0008 0.008 0.020
19|=FEsH  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.004 0.0054
20[=FEwm  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.008 < 0.0005
21|=Em 0.0012 < 0.002 0.005 0.0013 0.047 0.017
4 FRAX  (mg /L)
No. [EIE #h = £
1[FRAEX 0.015
2| FRERX 0.008
3[FHHAEEK [< 0.005
ALESSS 0.007
5| X 0.018
AEESH 0.006
AEESH 0.009
4 B¥%mH (mgL)
SR—12—
1,1—>40Aana[ SO0 FL 1,1,1—kJ% K)oz F FhSHOOT
No. [IZE #h = migkiRE IFLY > ooT4aY Ly FL
1|B%H  [< 0.0002 < 0.002 0.007 0.0044 0.13 0.0081
2|[BHH [< 0.0002 < 0.002 < 0.004 < 0.0005 0.026 0.0008
3|BE W [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
4|88 H  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
5|B8m  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
6|A%™H  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
7|88 [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
g|A®H  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.007 < 0.0005
9|HE W [< 0.0002 0.042 < 0.004 0.030 0.007 < 0.0005
10[B8H  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.010 < 0.0005
11|B%H  [< 0.0002 < 0.002 < 0.004 0.0006 < 0.002 < 0.0005
12|[B%H  [< 0.0002 0.017 0.023 0.011 0.074 0.021
13|B &t 0.0016 0.016 0.028 0.0079 0.050 0.017
14[B8&H  [< 0.0002 0.002 < 0.004 < 0.0005 0.021 0.0086
15|A%™H  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0032
16|BEH  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
17|B%H  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
18[B& ™ [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
19|A%H  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
20/A% ™ [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
21|B8 W [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
22|BEm  [< 0.0002 0.004 < 0.004 0.0063 0.042 < 0.0005
5 FFdh (mg L)
SX—12=-
11—<400 ~OAaIFL 1,1,1—kJ% k)oopxTF | FHZH/EART
No. [ Hh s migkRE IFLY > oOITAaYy Ly FL
1|fFp [< 0.0002 < 0.002 < 0.004 0.0008 < 0.002 < 0.0005
2|9 [< 0.0002 < 0.002 < 0.004 0.0007 0.005 0.0029
3[FFdm [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
Al [< 0.0002 < 0.002 < 0.004 0.0010 0.006 < 0.0005




SR—12—2
1,1—<400 ~ZO0TFL 1,1,1—kJS K)o F FhSHOOT

No. [IE#h s migbiE IFLY > OOI4y Ly FLV
5|FFshd |[< 0.0002 < 0.002 < 0.004 0.0005 0.003 < 0.0005
6|fFm  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
7|FFpd |< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
g8[pFdEm [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0008
o|fFshm  |< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
10[fF&H [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
11[fFFded  [< 0.0002 < 0.002 < 0.004 < 0.0005 0.003 0.0014
12[fFFdd [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
13[fFFdd [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
14[fFd [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
15|fF®d  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
16[fFH  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
17|fFF®d  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
18[fFH  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
19[fFFdd  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0007
20[fFfm [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0007
21|58%m™  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
22|5f%m™  [< 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
6 HAAXX (mg L)
No. |;RIE Hh st £

1[HAARRX [< 0.005

2[HAAK [< 0.005

J[HEARX [< 0.005

A[HEEARKX [< 0.005

5[1HEARX [< 0.005

6[HHAAK [< 0.005

7[HHEARX [< 0.005

8[iHEAK [< 0.005

9[tHHEARX [< 0.005

10[HHEARX [< 0.005

HEBARX |[< 0.005

12[{#HEAX [< 0.005

13[HEARRX |< 0.005




IR S8EETEIRE=FIVRAETRE S RBIEREE
(mg.”L)
SZX—12—[ 11,1—FY
11—40 2y ululs ~ooxT4 rJyrooxT| FhSH0O0

No. [BIEHhES it migkxRF| BIFLY FLV > FLV IFLY
1| 5#H - < 0.0002 < 0.002 0.007 < 0.0005 0.007 0.075
2|&5HBH — < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0017
3|ImiE T - < 0.0002 < 0.002 < 0.004 0.0035 0.007 0.0033
4| BT X 0.015 - - - - - -
5[BIIX < 0.005 - - - - - -
614 h - < 0.0002 < 0.002 < 0.004 0.0005 < 0.002 < 0.0005
7| ¥RiEHRT - < 0.0002 < 0.002 < 0.004 0.0096 0.023 0.0011
8|¥mFEHT - < 0.0002 < 0.002 < 0.004 0.0029 0.011 0.0008
IfEEX - < 0.0002 < 0.002 < 0.004 < 0.0005 0.011 0.0054
10| #RIBX - < 0.0002 < 0.002 < 0.004 < 0.0005 0.053 0.0046
11[RBX - < 0.0002 < 0.002 < 0.004 < 0.0005 0.024 0.0017
12| RIBX - < 0.0002 < 0.002 < 0.004 < 0.0005 0.008 0.0005
13| E@atiuth | - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.032
14| REALH | - < 0.0002 < 0.002 0.004 0.019 0.048 0.0032
15| ®gstlith| - < 0.0002 < 0.002 < 0.004 0.013 0.025 0.0023
16| KF0TH - < 0.0002 0.002 < 0.004 0.023 < 0.002 0.0038
17| AFH - < 0.0002 < 0.002 < 0.004 0.022 < 0.002 0.0030
18| AU - < 0.0002 < 0.002 < 0.004 < 0.0005 0.060 < 0.0005
19| E#IUH - < 0.0002 < 0.002 < 0.004 0.0007 0.006 < 0.0005
20[FA LT - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0020
1{BABXH| - < 0.0002 < 0.002 < 0.004 0.0079 0.006 0.0008
2[BEAEKTH | - < 0.0002 < 0.002 < 0.004 0.0049 0.002 0.045
B|EABXH| - < 0.0002 < 0.002 < 0.004 0.0067 0.005 0.072
4[BAEKH | - < 0.0002 < 0.002 0.005 0.0063 0.006 0.29
B5|/ABEKTH| - < 0.0002 < 0.002 < 0.004 0.0075 0.022 0.0025
26[RAEKT| - < 0.0002 < 0.002 < 0.004 0.0040 0.016 0.0030
271|Z AT - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0058
28| AET - < 0.0002 < 0.002 < 0.004 0.0039 0.015 < 0.0005
29| BET - < 0.0002 < 0.002 < 0.004 0.0014 0.014 0.0072
30| iz X - < 0.0002 < 0.002 < 0.004 < 0.0005 0.022 0.0057
31 [IREEX - < 0.0002 < 0.002 < 0.004 < 0.0005 0.011 0.0045
2[EXmH - < 0.0002 < 0.002 0.004 0.0007 0.006 < 0.0005
33| KF M — < 0.0002 < 0.002 0.004 0.0032 0.031 < 0.0005
FAEENIL - < 0.0002 < 0.002 < 0.004 0.0016 0.002 0.0082
35[/MEm - < 0.0002 < 0.002 < 0.004 0.0077 0.020 0.0028
36[FEKFH - < 0.0002 < 0.002 < 0.004 0.016 0.015 0.0012
37[/h - 0.0003 < 0.002 < 0.004 0.0008 0.016 < 0.0005
3B|REATH - < 0.0002 < 0.002 < 0.004 0.0073 0.020 0.060
39|z )IITh — 0.0003 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
40(37)IlTh - 0.0047 < 0.002 < 0.004 < 0.0005 0.003 < 0.0005
M[ERFH — < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.019
R EYFESH - < 0.0002 < 0.002 < 0.004 0.0022 0.004 0.0012
43[/NETH - < 0.0002 < 0.002 < 0.004 0.0043 0.012 0.0023
441 EHTH - < 0.0002 < 0.002 < 0.004 0.0009 0.009 0.17
45 /NEHTH - < 0.0002 < 0.002 < 0.004 0.0006 0.008 0.083
46/MEHTH - < 0.0002 < 0.002 < 0.004 0.0013 0.013 0.17
47[1RAH - < 0.0002 < 0.002 < 0.004 0.0012 0.012 0.10
48| R EF - < 0.0002 < 0.002 < 0.004 0.0007 0.010 0.049
49| KB - < 0.0002 < 0.002 < 0.004 0.0010 0.010 0.049
50[RAa™ - < 0.0002 < 0.002 < 0.004 0.015 0.005 0.0007
I EEE D - < 0.0002 < 0.002 < 0.004 0.0011 0.016 0.024
52| K BFTh - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
53| K m - < 0.0002 < 0.002 < 0.004 0.0017 0.009 0.032
54| KB EFTh - < 0.0002 < 0.002 < 0.004 0.0007 0.012 0.0025
55[#2 i X - < 0.0002 < 0.002 < 0.004 0.0044 0.016 0.0099
56[f2 i [X - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
57| HKX - < 0.0002 0.38 < 0.004 3.0 < 0.002 < 0.0005
58[3XEHEX - 0.0004 0.027 < 0.004 0.11 < 0.002 < 0.0005
59|37 JIITh - < 0.0002 < 0.002 < 0.004 0.0018 0.006 0.0049
60|32 )IITH - 0.0002 < 0.002 0.010 0.0015 0.059 0.0005
61|32 )IITh - < 0.0002 < 0.002 < 0.004 0.0022 0.008 0.013
62|fFde - 0.0002 < 0.002 < 0.004 0.0006 0.011 < 0.0005
63|fFmh - 0.0004 0.027 < 0.004 0.013 0.076 < 0.0005




(mg.”L)

SZX—12—[ 11,1—FY
11—<450 2 uluks ~ooxT4 k)pooxT| FrSH0O0
No. [BIZEHh S itE migbxRE| OTFLY FLV > FLV IFLY
64|fFhth - 0.0004 0.002 < 0.004 0.0006 0.023 < 0.0005
65[/N&HmH - < 0.0002 < 0.002 < 0.004 0.011 0.008 < 0.0005
66[/NE&FHTH - < 0.0002 < 0.002 < 0.004 0.0031 0.012 < 0.0005
67| BB - < 0.0002 < 0.002 < 0.004 0.0010 0.015 0.023
68| B - < 0.0002 0.002 0.004 0.0009 0.008 < 0.0005
69| KB B - < 0.0002 < 0.002 < 0.004 < 0.0005 0.003 0.0061
NEGE D - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.0024
71|)\EFth - < 0.0002 < 0.002 < 0.004 0.0017 0.003 < 0.0005
12|)\EFH - < 0.0002 < 0.002 < 0.004 0.0038 0.031 0.0021
13|\ EFH - < 0.0002 < 0.002 0.055 0.0009 0.77 < 0.0005
74|El3iLth - < 0.0002 < 0.002 0.011 0.0014 0.011 0.51
75|E 3 - < 0.0002 < 0.002 0.023 0.0013 0.019 0.25
76|El 3L th - < 0.0002 < 0.002 0.038 0.0018 0.032 0.41
77|E3 - < 0.0002 < 0.002 < 0.004 0.010 0.012 0.013
78| FFhth - < 0.0002 < 0.002 < 0.004 0.0008 0.010 0.0021
79| b - < 0.0002 < 0.002 < 0.004 0.0005 0.071 < 0.0005
80|= & - < 0.0002 < 0.002 < 0.004 0.0014 0.025 0.0046
81|=/E&m - < 0.0002 < 0.002 < 0.004 0.0018 0.016 0.0096
82| =& - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
83[=Em - < 0.0002 < 0.002 < 0.004 0.0009 0.018 0.012
84| = ET - < 0.0002 < 0.002 < 0.004 < 0.0005 0.008 0.0085
85|=/&m - 0.0003 < 0.002 < 0.004 0.0016 0.010 0.0083
86| =& — < 0.0002 < 0.002 < 0.004 0.0015 0.010 < 0.0005
87|HHEARK - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0008
88[HEAAK - < 0.0002 < 0.002 < 0.004 0.12 < 0.002 0.0036
89[H2 i X - < 0.0002 < 0.002 < 0.004 0.0034 0.010 0.20
90[#2 i [ X - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.012
91| - < 0.0002 < 0.002 < 0.004 0.0006 < 0.002 0.0087
2(FHBEX - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0032
93[FHAERX - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0013
94|/\EFmh - < 0.0002 < 0.002 < 0.004 0.0029 0.028 0.0009
95[/\EFm - < 0.0002 < 0.002 < 0.004 0.0035 0.028 0.0022
96|/\EFmh — < 0.0002 < 0.002 < 0.004 < 0.0005 0.006 < 0.0005
SMEELD - < 0.0002 < 0.002 < 0.004 0.0008 0.005 < 0.0005
98|FA#h — < 0.0002 < 0.002 < 0.004 < 0.0005 0.003 0.012
99| Th - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.012
100|3f%th — < 0.0002 < 0.002 < 0.004 < 0.0005 0.007 0.0033
10138 - < 0.0002 < 0.002 0.023 < 0.0005 0.029 < 0.0005
102]38;Ih — < 0.0002 < 0.002 < 0.004 0.0005 0.009 0.0036
103|138 h - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.017
104[tHAAR X - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0005
105/ tHAA X - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.013
106[tHAAR X - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0054
107|HAAX - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.024
108[tHAAR X - < 0.0002 < 0.002 0.11 < 0.0005 0.019 0.35
109|BERX - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 0.0019
110|BERX - < 0.0002 < 0.002 0.36 < 0.0005 0.17 16
THEEZLS - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
112]38;Ih - < 0.0002 < 0.002 < 0.004 0.0010 0.007 0.023
113]38;Ih - < 0.0002 < 0.002 < 0.004 < 0.0005 0.037 0.0007
114]38;Ih - < 0.0002 < 0.002 0.027 < 0.0005 0.057 < 0.0005
115038;I - < 0.0002 < 0.002 < 0.004 0.0005 < 0.002 0.020
116|ETHTH - < 0.0002 < 0.002 < 0.004 < 0.0005 0.002 0.011
17| KARX - < 0.0002 0.004 0.22 0.0030 0.032 0.16
18| KAKX - < 0.0002 < 0.002 0.11 0.0010 0.064 0.0049
19| KARX - < 0.0002 0.002 0.11 0.0040 0.054 0.22
120| KAKX - < 0.0002 < 0.002 < 0.004 < 0.0005 < 0.002 < 0.0005
121/ KARX - < 0.0002 < 0.002 0.14 < 0.0005 < 0.002 < 0.0005
122| KAKX - < 0.0002 < 0.002 0.030 < 0.0005 0.12 0.0023
123[BTE T - < 0.0002 < 0.002 < 0.004 < 0.0005 0.003 < 0.0005
124|BTATH - < 0.0002 < 0.002 < 0.004 0.011 0.031 0.0028
125[BTHETH - < 0.0002 0.004 < 0.004 0.0097 0.028 < 0.0005
126|BTHTH - < 0.0002 0.003 < 0.004 0.0020 0.012 < 0.0005




